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51 No
DBID:1555001

Choose the correct sentence.

tay It is strange that you don't know swimming.
gy It is strange that you don"t know how to swimming.
¢y It is strange that you don"t know how to swim.

(y Itis strange that you don"t know to swimming.
Answer Given by Candidate : C

5l.No2
DBID: 1555002

Choose the correctly spelt word.
tay Decrepit
5y Deeripit
¢y Dacrepit

(ny Decripet
Answer Given by Candidate : Hot Answerad

5. No.3
OBID: 1555003

Match List I with List IT :

LIST I (Word) LIST II (Antonym)
A Stranger i disrespect
B. obeisance IL despise
38 acknowledge III.  |friend
D. admire IV. |denw

Choose the correct answer from the options given below:
ay A-IL B-IV, C-1, D-III
gy A-III, B-I, C-II. D-IV
ey A-IL B-I, C-IV, D-II
oy A-IL, B-III. C-IV, D-I

Answer Given by Candidate : C

5l No.4
OBID:1555004

Given below are two statements :

Statement I : One who hates books is a bibliophile.

Statement II : One who is attracted to foreign things is a xenophile.

In the light of the above statements. choose the most appropriate answer from the options given below :

(A} Statement I is false but Statement II is true
8y Both Statement I and Statement IT are false
€} Statement I is true but Statement IT is false

(b} Both Statement I and Statement II are true
Answer Given by Candidate : &

5l.Ho5
QBID: 1555005

Select the pair which has the same relationship as the pair below :

grief : consolation



A} milk : chocolate

(8} conductor : bus

€} disease : medicine

(py soup : water

Answer Given by Candidate : Not Answared

5l.Noé
QBID: 1555006

Identify the correct direct narration for the following sentence.

Suresh asked Prasad whether he had watched the cricket match on television the previous night.
(4} Suresh asked Prasad. "Have you watched the cricket match on television previous last night ?"
gy Suresh said to Prasad. "Did you watch the ericket match on television last night ?"

an

t¢} Suresh said to Prasad. "Had you watch the cricket match on television night

by Suresh asked Prasad. "Did you watch the ericket match on television tomorrow night 2"
Answer Given by Candidate : A

S5l No.?
OBID: 1555007

Which of the following words is a one-word substitute for "the study and description of the physical features of an area” ?
oy Theography

8y Topography

¢y Geography

0y Tractography

Answer Given by Candidate : B

5l No.2
DBID: 1555008

Find out which part of the sentence has an error, if there is no error. mark option 4.
tay If land pollution keeps on happening

gy soil to have grown our crops on

(€} at this rate, we won't have fertile

{0} No Error
Answer Given by Candidate : Not Answered

5. Ho.§
QBID: 1555009

Choose the correct order of the paragraph to create a meaning out of PQRS set :
Etymologies are fun,

P : what a word means in the present,

Q : but they do not always clarify

R : and in fact. sometimes etymologies

S : work against such a clarification
tay PQSR
sy QPRS
&y SPQR

oy RSQP
Answer Given by Candidate : C

5l No.10
QBID: 15550010

Identify suitable preposition from the options given below to complete the sentence.

Friend was one many dedicated scientists who tried to see how brain were built.

(A} to
(8} on



) of
(b} in
Answer Given by Candidate : C

5l No.11
DBID: 15550011

In the Eights Schedule of the Constitution of India, which languages were added subsequently ?
(o} Marathi, Tamil, Konkani, Nepali

5y English, Sindhi, Marathi, Sanskyit

¢y Sanskrit, Sindhi. Konkani, Manipuri

oy Sindhi, Konkani, Manipuri, Nepali

Answer Given by Candidate : Not Answered

5. No.12
DBID:15550012

With reference to Chausath Yogini Temple situated near Morena, consider the following statements :

A. Tt is a circular temple built during the reign of Kachchhapaghata Dynasty.

B. It is the only circular temple built in India.

C. It was meant to promote the Vaishnava cult in the region.

D. Its design has given rise to a popular belief that is was the inspiration behind the Indian Parliament building.

Choose the correct answer from the option given below :
s} A and B only
gy B and C only
) A and D only

0y B. C and D only
Answer Given by Candidate : Not Answared

5l No.13
DBID: 15550013

Match List T with List I :

LIST1I LISTII

A Election of President id Article 61

B. Impeachment of President II.  |Article 352
Pardoning Power of the i

C. VR I |Article 35
President’s Power to

D. impose National IV. JArticle 72
Emergency

Choose the correct answer from the option given below :
oy A-I, B-II, C-III, D-IV
gy A-L B-III, C-IV, D-II
iy A-IV, B-III, C-II, D-I
oy A-III, B-I, C-IV, D-II

Answer Given by Candidate :

5l No.14
DBID: 15550014

Given below are two statements

Statement [ : India shares its longest boundary with Pakistan.

Statement IT : Pakistan shares border with 5 Indian States and Union Territories.

In the light of the above statements, choose the correct answer from the options given below :

A} Both Statement I and Statement II are correct
6} Both Statement I and Statement II are incorrect

€} Statement I is correct but Statement I is incorrect



{0} Statement I is incorrect but Statement II is correct
Answer Given by Candidate : Hot Answerad

5l No.15
QBID: 15550015

Who won the Aster Guardians Nursing Award by Aster DM Healthcare, which aims at recognizing the phenomenal contribution by
nurses to humanity ?

tAy Anna Qabale Duba
(8} Dida Jirma Bulle
¢} Francis Michael Fernando

(0} Jasmine Mohammed Sharaf
Answer Given by Candidate : Not Answared

5l Ho.18
QBID:15550016

If Pacdiatricians(P), Surgeons(S) and Doctors(D) are each represented by a circle, which figure represents their relationship best?

D
(A} .
P

(€}

(D}

o e
i
v wn
w

Answer Given by Candidate : A

5l No.17
DBID: 15550017

The logical meaning of,

'Only women can travel in the first coach of Metro' is -

ta} All women can travel in the first coach of metro.
(6} Women can travel in all coaches of metro
€} All coaches of metro are coaches in which women can travel

b} All those who can travel in the first coach of metro are women.
Answer Given by Candidate : D

5. Hp.a12
QBID:15550018

"If party A forms the government, then Mr. Z will be the Chief Minister” will be false, when -
) A forms the government and Z becomes the CM

gy A forms the government and Z does not become the CM

¢} A does not form the government and Z becomes the CM

(D}



A does not form the government and Z does not become the CM
Answer Given by Candidate : Hot Answerad

5l. No.19
QBID: 15550019

Choose the odd combination -
(A} Ideas - Books

gy Graing - Grannary

¢y Water - Reservorr

i} Photos - Album

Answer Given by Candidate : A

51 No.20
OBID:15550020

India and Bangladesh. both have not qualified for the semifinal. implies that :
(4} India has qualified but Bangladesh has not qualified

sy Bangladesh has qualified but India has not qualified

t¢y Neither India nor Bangladesh have qualified.

tny Either India or Bangladesh have qualified but not both
Answer Given by Candidate : C

5l No.21
QBID: 15550021

Find the ratio in which the point (=3, p) divides the line segment joining the points (-5, 4) and (-2, 3). Also. find the value of p.

3]
—_

(A} ,p=2/3

g 1:2.p=3/2
1

w 1l:1.p=1

m 2:3,p=2/3
Answer Given by Candidate : Hot Answerad
51 No.22

QBID: 15550022

If then which of the following is true?
a=+5+5+5+—— -

A}y a>3

(B} a=3

€ 2<a<3

(0} a>3anda<2
Answer Given by Candidate : &

5l No.23
QBID: 15550023

Of the four numbers whose average is 50, first is one-third of the sum of the last three numbers. The first number is:-
Ay 80
B 70
ey 60

(ny 50
Answer Given by Candidate :

51 No.24
OBID: 15550024

If the fractions % % % %% are arranged in descending order then which will be at the fourth place?
(A} ]
10
(B} .
4
(€} z
8
» 2
6

Answer Given by Candidate : B



5. No.25
OBID:15550025

9 men working 8 hours a day complete a piece of work in 20 days.
In how many days can 8 men working for 10 hours a day complete the same piece of work ?

(A) 203 days
]

B) 2(:}i d

® S T
2

(€} 225 days

(D} 22% days

Answer Given by Candidate : Not Answared

5l No.28
QBID: 244171

Who ever does anything with the intention of causing wrongful gain to one person or wrongful loss to another person is said to do that
thing ?

tay Fraudulently

gy Dishonestly

¢y Deceitfully

0y Wrongfully

T FIS 59 RO TS FY S § (5 UF Hfed &1 GaN SenY ST S 41 3 sfed &1 9819 51 S1d %, 59 $1 & 3 Fe a1 ¢ |
(A} BUYES

(B} SSHAT A

© dgd

(0} T Al o

Answer Given by Candidate : B

51 No.27
QBID:B44172

The essential ingredients for establishing the offence of rioting as per Sec. 146 of the Indian Penal Code are:

A. Unlawful Assembly
B. Force
C. Common Object
D. Commeon Intention
E. Criminal Conspiracy
Choose the correct answer from the options given below:
a} A. B, C only
iy A.D.E only
iy A.B,D only

o} A and B only
YRAR &5 Hied $1 4RI 146 & 9R &1 & 0y & Wfid 3 & g iaws aa ¢ |

A. TR S E

B.sq

C. 99 S50

D. IH 3E"
E. i s

i feu v fasmedf & S 98! SO &1 90 P
A}y $a0 A, B, C
/) ®¥Ta A D.E
(€} FTWA. B.D



0} H9d A and B
Answer Given by Candidate : A

5l Hp.22
QBID:B44173

Culpable Homicide does not amount to murder in case of:

A. Grave and sudden provocation

B. Sudden quarrel

C. Exceeding the right to private defence

D. Done by a public servant but exceeding his powers during the course of his duty.
E. Done by a public servant but exceeding his powers outside the course of his duty.

Choose the correct answer from the options given below:
ta} A, B, C only
gy A.C,E Only
¢y A, B, E only
iy A, B, C,D only
Fofafad # 9 g ame § gan 31 Sife § 7 o aren snawifis a1 9y g 8
A. TR 3R S Sem
B. @ Wels
C. ol wicRen & sider 3 #iis
D. UF i das g g 7 Afe o e & w85a § e wifeaal 9 sifis
E. U= o da 5 fm man afeT eme wder & aney o wfEdt & ofis
i ey e fewedi § & wEl IR &1 984 By
(A} ®T0 A, B, C
gy $aa A, C. E
¢y a0 A B.E

) F@A B, C.D
Answer Given by Candidate :

5. No.29
QBID: 844174

Given below are two statements:
Statement I:  Fraudulent alterations of an electronic document is punishable under Section 465 of the Indian Penal Code:

Statement II:  Electronic records were added to Chapter XVIII of the IPC (of Offences Relating to documents and to Property Marks)
by the IT Act, 2000.

In the light of the above statements, choose the correct answer from the options given below:
ta} Both Statement I and Statement II are true
8} Both Statement I and Statement IT are false
(€} Statement I is true but Statement IT is false

(b} Statement I is false but Statement IT is true

TR sERTmME:

FUF | ; HRAE &3 Sieal 1 ¥R 465 F d5d UF sagi-e a&ies & $9eqy 9ian s @ |

B 11 : SAEiE g 51 2 afifrmm 2000 R 9 & s XVITT @t AR gofe % e 3 d96fim smmdi &) & sist m an
FWIF YT & TS H, i [4U Y Aeed] § 8 951 IR &1 994 I ;

Ay Y] SR Il el 90 &
(8} BYA-1 3R -I1 SFf 39 &
) FYFI 94 &, Tfpa FYH-II 3 &

(0 FE-1 39 T, WA -1 9
Answer Given by Candidate : A

5l No.30
DBID: 8475



Given below are two statements: One is labelled as Assertion A and the other is labelled as Reason R.
Agsertion A: Even in the absence of national legislation, every human enjoys human rights.
Reason R: Human rights are universal, inalienable and inherent.

In the light of the above statements, choose the most appropriate answer from the options given below
(A} Both A and R are correct and R ig the correct explanation of A

6y Both A and R are correct but R is not the correct explanation of A

€ A is correct but R is not correct

{0} A is not correct but R is correct.

9 2 HuA Ru I § ; 0w afiud A ¥ w0 § R84 & o 290 $RU R & ¥ &
YA A - TP FyE F avE & o, S 97w 99 A RI 1 Sugr Sl g |
FRU R : AFGENYHR SEYiiiE, Juige N safika g

IR ST & HF |, -9 o8 T AFed § § 951 9w & 994 Hivd ;

#) A SRR AT 9§ SR R, A 91 W8l e §

) A IR R T T § ofET R, A B TS e T R
© ATSRafsa R a R

© AW TR EARFA R AEE

Answer Given by Candidate : &

5l No31
QBID: 844176

Match List I with List IT

LISTI LIST IT
Contemporanea
A |Exposito Est I |Alater law repeals an earlier law

Fortissima in Lege

e The finest way to interpret a Text 1s to

B. 2 II. |read it as 1t would have read when it was
Derogat Prion

construed
Impotentia Impossibility excuses the non-observance
& III. g
Excusat Legem of the law
Expressio Unius e s S
O | Bl v Explicit mention of one thing 1s the

exclusion of another

alterius

Choose the correct answer from the options given below:
ay A-L, B-II, C-III, D-IV
gy A-IL, B-1, C-III. D-IV
iy A-IL B-III, C-IV, D-I
iy A-III, B-I, C-II, D-IV



el - 19 1Y Gl - 11 BT T B -

a1 Tt 1
PG IR LRED G2l
. T ElrEal H
A JHufenrue - Wémgrﬁ Eakes
BRI 3T o
ol UIe @1 sure &3 &l 9ay
” T iR S3re n FB NP IR BHITEIH
" |wrufEr © |ge1 9, o {6 59 & & 9HT Ul
ST o |
ST vaagde HYUTHAT B & UIeH 5 @3 Bl
C [Gem e Er B
T g T . o o o wup e g @
B, Tagaq[ad Hacy NV aReoe |
i 4T Tt fasedl § € 981 SR &1 99 Bifol -

tay A-I, B-IL, C-III, D-IV
gy A-II, B-I, C-III, D-IV

wy A-IL B-III. C-IV, D-I

oy A-IIL B-I, C-II, D-IV

Answer Given by Candidate : B

51. No.32
OBID: 844177

Which of the following is NOT an mternal aid of mterpretation?

(A} Statement of Objects and Reasons

(8} Preamble

¢y Marginal Notes
(0} Schedule
Fafafaa 8§ ¥ F19 oren F1 Al Semd 16l

(A} Teml 3 SR @ fage

(B) VTS
)y gmig e
(o) ST

Answer Given by Candidate : &

5. No.33
OBID:B44178

Match List I with List IT

LISTI LISTII
A |Inevitable Accident I |Nichols v. Maishland
B. |Act of God I Smlth \'._ London and South Western
Railway Co.
C. [|Vicanious Liability III. |Stanley v. Powell
O |Gty ARy v Mersey Dock and Harbour Board v

Coggins

Choose the correct answer from the options given below:
oy A-IIL, B-I, C-IV, D-II
@y A-l, B-II, C-IIL, D-IV
wy A-II, B-IV, C-III, D-I
oy A-IV, B-II. C-I. D-III




el - 19 1Y Gl - 11 BT T B -

I T 1
A |smfter gee 1 |Feiee a9 ARl s
B. [2dig e il b ”faﬁ;"ﬁ”; & US WISy e X
C. |ufaffEes aifda I [&-ell a9 uida
D. |wifafere mitrsrt V. (A Sld 3R BTeR 913 S B9
- feu e fa el o 9 981 IR &1 99 B -
ay A-III, B-I, C-IV, D-II
gy A-L, B-II, C-III, D-IV
ey A-IL B-IV, C-III, D-I
iy A-IV, B-II, C-I, D-III
Answer Given by Candidate : A
3l No.34
OBID: 844175
Match List I with List IT
LISTI LIST IT
A |MC Mehta v. Kamal Nath I |Marine Pollution
B Rural Litigation Entitlement Kendra o |t .
" |v. State of UP . EOHETES
€. |saunit Metita v. Usiion 6 Tndia iy [PocabeoRE i
Trust
D Vellore Citizen Forum v. Union of v Sustainable
 |India * |Development

Choose the correct answer from the options given below:

oy A-I, B-III, C-IV, D-II
gy A-III, B-I, C-II, D-IV
&y A-IIL B-IV, C-I, D-II
iy A-IV, B-II, C-I, D-III

el - 1 91y Il - 11 BT = DI -

-1 TR - o
A [ord! dgdr 9H pHAIY L [gHg! Jequr
X (AT SeBeat< &g
B lgm s R v IL.[FF5 T PR
C. [afid Hgdl 991 HRd €49 111 [ads® [y &1 Hgid
D. [deaR fafes BRE 5919 YR 9ujiv[gad faeg

i< feu e fawedt & @ 9et SR &1 984 Sy -

tay A-I, B-III, C-IV, D-II
iy A-III, B-I, C-II, D-IV
iy A-III, B-IV, C-I, D-II

oy A-IV, B-II. C-I. D-III
Answer Given by Candidate : C

5l Ho.35
QBID:2441710




Match List I with List IT

LIST I LISTII
A |Duguit 1 |Haistorical School
B. |Savigny II. |Pure theory of Law
C. |Kelsen III. |Analytical School
D. |Bentham IV. |Sociolegical School

Choose the correct answer from the options given below:
iy A-L B-IV, C-II1, D-II
gy A-IV, B-III, C-II, D-I
iy A-III, B-II, C-I, D-IV
iy A-IV, B-I, C-II. D-III

il - 19 1Y Gl - 11 T FHe B -

Tl -1 e - 11
A [sgfe L [ufeiye Tpd @)
B. [gfaut 11 [fafY &1 Y i
C. [beH 111 [[G3ciyunetd Wa
D. [dyd V. [qareEIRE W
=t ST 770 fdPedl O 9 951 3R &1 994 B -

tay A-I, B-IV. C-II1, D-II
gy A-IV, B-III. C-II, D-1
¢y A-IIL B-II, C-I. D-IV

oy A-IV, B-1, C-II, D-III
Answer Given by Candidate : D

5. No.36
QBID: 2441711

The Surrogacy (Regulation) Bill, 2019:

A. Prohibits commercial surrogacy.
B. Allows altruistic surrogacy for infertile couples.
C. The couples may be Indians or Foreigners.
D. The surrogate must be a close relative of the ntending couple.
E. Provides for the establishment of National surrogacy Board.
Choose the most appropriate answer from the options given below:
) A. B, C.E only
gy A, B, C,D,E Only
iy A.B,E only
(my A, E only
TR (fafaem) fadass, 2019
A. aifofse® SRRl =1 wiosfyE &3 &1
B. Sieu aret Suferal wigesi SRR St oAt gar 31
C. Zufa g a1 fES=h 5 | )
D. WFE &l gugd quld &1 SUE! REdeR gH1 91zl
E. WP SIERA 9IS $1 RIGE1 & [0 gy F3 g1
= fau 7Ty fosedi # | WEl IR P19 B ;
(o} ¥T A, B, C. E
() #IWA.B.C.D.E
) $aa A B.E
(b} FTTALE



Answer Given by Candidate : Not Answaread

5. No.37
0DBID: 8441712

With respect to the award of death penalty in India, which of the following is true?

(o} Death penalty must never be awarded

5y Death penalty can only be awarded if the number of victims exceed six.

¢y The court awarding the sentence must consider all aggravating and mitigating circumstances.

Wherever the penal law provides for death penalty, it must be
awarded.

(D}
YRd # §Es & & Hey § fpfafEa @ s s ar

(A} A @1 e w4 T8l 4wl @iy

(B} HOCs Haa adl fgar o1 gea B, v Nifsdl 31 S 98 | offw &

(€} T & aTe JaTea B gl TR SR 1 Fe gl ol ) ffER ity
oy el Wl &8 H1F ¥ ggds &1 WayH g, a1 39 2aw &g W =hiey

Answer Given by Candidate : C

5l No.38
DBID: 8441713

Which of the following is true with respect to the ‘Right to be forgotten’?

A. The right to be forgotten is explicitly provided for m the constitution.

B. The right was affirmed in Justice Puttaswamy V Union of India.

C. It 1s a part of Article 21

D. The right has been governed in the IT (Intermediary Guidelines and Digital Media Ethics Code) rules, 2021.

E. It mcludes the right to object to the publication of information regarding one’s crimes and conviction to ease social mtegration.

Choose the most appropriate answer from the options given below:
iy A. B, C.D only

gy A, B, C,D,E only

@y B.C,D only

iy B, C, D, E only

FaRfET § 9 &9 ym o ¥ ofier F ey d 9 @

A, YO o B SR Sy § wy 9 3 e fra mar g

B. 9ficd gzl 94 YRa 99 § 59 AfieR 31 9ff 31 75 A

C. T S=5€ 21 1 0% foxa1 &

D. 7% ISR e @ frnfidm R fefea fifsar smr i fam, 2021 & ofm S mn g

E. 590 SAIfe® T ie &1 6H §9 & o & & sy SR Sfifs & d9y § g9 & ene ) ol @ e mita g

A fau o e # 9 92 3T &1 994 S
(o) FTAA, B, C.D

(B) $aU A, B, C.D.E

€y $aa B, C.D

} #¥9@B, C.D.E

Answer Given by Candidate : Hot Answerad

5l. No.39
QBID: 3441714

A contract without consideration will be valid if it is

AL A gift

B. An agreement made orally on account of love and affection

C. An agreement made in writing and registered on account of love and affection
D. Promise to pay a time-barred debt

E. For a past voluntary service

Choose the most appropriate answer from the options given below:



4} C, D, E only

gy A.C,D,E only
iy A.B.C.D.E only
0y A.B, E only

o 53 vioa & os sqey I Em ot oE

A. JUER

B. U9 3R &t & R0 Aifgs 9 9 G 791 g9gha
C. 9OR IR ¥E & oMyR R &0 R wied w wga
D. SIEwid 30 &1 YT S F1 aral

E. fisd wfess a1 & R

1= feu 7o fawedf § 9 T8 SO &1 90 S ;
(o} $a0C. D, E

| ¥GAA, C.D. E

€ $IWA. B.C.D.E

by $aT A, B, E
Answer Given by Candidate : B

51 No.4D
OBID:B441715

Exceptions to the concept of privity of contract are:

A. Beneficiaries under trust or charge
B. Mmor
C. Marriage settlement
D. Partition
E. Covenants running with land
Choose the most appropriate answer from the options given below:
Ay A. B, E only
gy A, C, E only
) A, C, D, E only

iy B, C, D only

TS Y P HTURI F U T ;

A. T U1 919l & aga
B. A5

C. faame wHeia @R oo
D. ByeE

E. yfft & wy =e ol wefaen
A1 fam e e A 9 92 IR &1 9549 S ;
(a} ¥a9 A, B, E only
g} #T@ A, C.E
©) ¥9UA, C,D.E

(y F@A B, C,D
Answer Given by Candidate 1 B

5l No.41
QBID: 3441716



A.V. Diecy’s Rule of Law mcludes:

A. Predominance of Legal Spirit
B. Supremacy of law

C. Written Constitution

D. Equality before law

E. Separation of powers

Choose the correct answer from the options given below:
(4} A. B, D, E only
gy A, B, E Only
) A, B.C.D.E only
iy A.B. D only
udl sl & B & Faw A i §
A, BT HIEA1 B 9=
B. 17 & gdi=al
C. fofaa dfaym
D. B & THe FAM
E. zifsadl &1 gEawm
Hid feu u et # | WEl ST 51 9 Fiie
(o) ¥90A. B.D. E
5y $a0 A B. E
(¢} $99 A, B.C.D.E

(y Faa A B, D
Answer Given by Candidate : Db

5. No .42
QBID: 2441717

Given below are two statements:

Statement I: Bill of Exchange must contain an unconditional order.
Statement II: Bill of Exchange can be in writing or oral.

In the light of the above statements, choose the correct answer from the options given below:

(A} Both Statement I and Statement IT are true
(8} Both Statement I and Statement II are false
€} Statement I is true but Statement I is false
{0} Statement I is false but Statement II is true

Ty fer .

Fu 1 : fafmg & § o= o o emem wfta &

FR 11 ; fafmg o3 fafda o Aifgs & 9= 7

TR B & HTE H, 3 fon T Geedi § § 951 ST &1 994 e

A} BYA-] AR IS 9 &
B FYEI 3R 11 2Ff s &
) HYA-]1 94 T, ofed SUA-II 39T &

(0} FYH-1 39 T, A FUA-I1 9 &
Answer Given by Candidate : B

51 No.43
OBID: 2441718

Which Act mandates all financial institutions to mamtain a record for all forms of transactions?
(A} Bankers’ Books Evidence Act, 1891

(g} Prevention of Money Laundering Act.

¢y Foreign Exchange Management Act, 1999



{0} Reserve Bank of India Act, 1934
sRW AT o e s s iR s R F u e e n s = afiEm a2
() SeaR Twl Tsg sfafEy, 1891

(B} F-TeE Fawm Ty
(cy ToeER Hqom veEE afdiEE, 1999

(o) Hdta frad §@ afafyam, 1934
Answer Given by Candidate : D

51 No.d4
QBID:B441719

Arrange the following in the order in which eriminal procedure takes place.

A. Investigation

B. Examination of witnesses
C. Framing of charges

D. FIR

E. Police Report

Choose the correct answer from the options given below:
(4} D-A-B-C-E

ey D-A-E-C-B

&y D-E-C-A-C

iy D-C-A-B-E

FofifET &1 99 w0 # oraffa &, foed sy aiea e § 1

A, gE0

B. T #1 gdian
C. ¥RHf B G
D. T353R,

E. gftw faaid

i feu o fewedt & § 981 SO ®1 994 S
tay D-A-B-C-E
(& D-A-E-C-B
€y D-E-C-A-C

oy D-C-A-B-E
Answer Given by Candidate : B

5l No.45
0OBID: 8441720

Which of the following is known as an umbrella legislation?
ta} The Water Act, 1974

8y Wildlife Protection Act, 1972

iy Forest Conservation Act, 1980

(o} Environment Protection Act, 1986

i & 9 &9 g9eadt ByE S Su g e ® |

(A wa sAfEfEE, 1974

(B) TG W& SHAFEE, 1072

(€} o e AR, 1980

(0} TafeRoT W& AT, 1986

Answer Given by Candidate : B

5. No .48
QBID: 3441721

Earth Summit is also known as:
{4} Rio Declaration

8} Stockholm Declaration

()



Johannesburg Declaration
(0} Nairobi Declaration
gt frey e & fpg wu A i S w2
(&) e gon
(B} EIHGH HITu
(€} SHETSA o
(@) "Rt o

Answer Given by Candidate : &

51 No.47
OBID:B441722

Matech List I with List IT

LISTI LISTII
A |Solomon v. Solomon L I?’i{;ian;;nii}tndom
B. |Lee v. Neuchatel Asphalt II. |Reserve Fund
C. |Roval Bratish Bank v. Turgvand | III. |Majonty Rights
D. |Foss v. Harbottle IV. |Lifting of Corporate Vel

Choose the correct answer from the options given below:
ay A-IIL, B-I, C-IV, D-II
gy A-L B-III, C-IL D-IV
@y A-IV, B-II, C-I, D-III
iy A-II, B-I, C-III, D-IV

et - 19 Iy gl - 1 o1 e wifei
Tt -1 Tt -1

A [T S99 GieEE L. [3fiaiRe UeYH &1 fagia
B. [¢fl d1. &40 add S@biee | 1L [¥ord =19

C. RIOe e 6 S qRep1aG | 1L [SEUeIe 3UBR
PIONE TG0 BT I

D. [B19 §19 gEied V. (e s sRURe
Elis)
i fu e fdeedl O U 981 9R &1 99 ool -

tay A-IIIL, B-1, C-IV, D-II
gy A-L, B-III, C-II, D-IV
ey A-IV, B-II, C-1, D-III
oy A-II, B-I, C-III, D-IV
Answer Given by Candidate : G

5l Ho.42
QBID:B441723

Given below are two statements:

Statement I:  Every listed company with a paid-up capital of Rs. 10.00,00,000/- (ten crores rupees) or more must appoint a key
managerial personnel.

Statement II: A person may act as a key managerial personnel in more than one listed company but the number must not exceed five
companies.

In the light of the above statements. choose the correct answer from the options given below:
(4} Both Statement I and Statement II are true
(8} Both Statement I and Statement IT are false
€} Statement I is true but Statement IT is false

(b} Statement I is false but Statement II is true



fﬁ??&mﬁgﬁmwIU.OD.D0.000F@mmmﬁ%ﬁwqﬁ%@wﬂﬂﬁﬁﬁﬂﬂﬂ%aﬁﬁgﬁmmﬁqt
BN 1] : U i Uh ¥ i Ghiag ou- A Uh THE TEUS S1iEe & w0 8 SF 6 96l & didd Sab! v uid $ufal | s 98 g+ 9ty
%ﬁm$w$&mﬁﬁmwﬁaﬁﬁéﬂﬁaﬂ?ﬂmaﬁﬁq;

(A BUE-] AR EHI Ta E

(8) HYF-1 3R -11 SHT 353 2

(© FYE-1 99 T, A TyE-11 o §

(0 FA-1 39 T, AT FUE-1 9 §
Answer Given by Candidate : Hot Answearad

5. No.49
QBID: 3441724

Give below are two statements: one is labelled as Assertion A and the other is labelled as Reason R
Assertion A : The Articles of Association of a company may restrict the right of sharcholders to petition for winding up of a company.
Reason R : In case of a conflict between the Companies Act, 2013 and the articles of Association, the Act will prevail.

In the light of the above statements, choose the correct answer from the options given below :
4} Both A and R are correct and R is the correct explanation of A
5y Both A and R are correct but R is not the correct explanation of A

€} A is correct but R is not correct

by A is not correct but R is correct

HUFYA A ; U S GH-ITE SO & IRTHN F ] TRYRS! & a1 & AfFR & ST s asa g |
FNO R : FO AfAfEE 2013 o §-owie $ 9 9o & o & Ame § sifafas sy g o
IWIF FYF & WS H, A {6 T el # § 951 IR &1 994 i

A} A SRR SHf 981 § SR R, A #1 W5l e §

® A SRR AT afET R, A ¥ 9 e T 8
(€} A ¥E el g Ofebd R W 6l &

(0} A W@ E ¢ AP R W7

Answer Given by Candidate : B

5. No.50
0OBID: 8441725

Given below are two statements:
Statement I: Notice for a meeting must be given to every member of a company in writing 21 days before of the meeting.
Statement II: Notice shall be deemed to be recerved at the expiration of 48 hours from the time of posting.

In the light of the above statements, choose the correct answer from the options given below:

{4} Both Statement I and Statement II are true
(6} Both Statement I and Statement II are false
€} Statement I is true but Statement IT is false

(b} Statement I is false but Statement II is true
TR T RUME
FYF ] : B F UOE 959 F1 9o & O 09 § o S5 ¥ 21 feut 9 ugd Aifew fem e =t

FROT 11 ; AlfeH & 9IeT & 909 9 48 °9¢ &1 I 9% 39 "< #7141 & |
TURIE BYF & HTE B, 94 on T Geed! § § Tl SR &1 909 $Ied

#) FYA-] AR ST 9T &
B} FYF-I AR -1 2F g §
€} HYA-] 94 T, Ui SUA-II 390 &

(0} FUA-I 3 2, e PUA-I 9 §
Answer Given by Candidate : Hot Answerad

5. No.51
QBID: 3441726



Match List I with List IT

LISTI LISTII
(Jural Position) (Jural correlatives)
A |Rights I |Liability
B. |[Power II. |Duty
C. |Privilege III. |Disabaility
D. |Immunity IV. |No-rights

Choose the correct answer from the options given below:
Ay A-IV, B-II, C-I, D-III
gy A-IL B-I, C-IV, D-III
€y A-IV, B-III, C-II, D-I
oy A-I, B-II, C-III, D-IV

et - 1 91y Il - 11 BT o= P -

TR | - n A
A [3fUBER L [cadl
B. [wifad IL [@do
C. [AREi¥®dR 1L |[3rgmeldn
D. [39fdd IV. [15 HSPR Tel
A= f¢u Tt fasedl © § 981 SR &1 99 BifolU -

tay A-IV, B-II, C-I. D-III
gy A-II, B-I, C-IV, D-III
€y A-IV, B-III. C-II, D-1
(ny A-I, B-IL, C-III. D-IV

Answer Given by Candidate : B

51 No.52
OBID:B441727

According to Henry Maine, the stages of development of law are:

A. Knowledge of law in the hands of the priests
B. Codification

C. Legal fiction, equity, legislation

D. Customary law

E. Law made by the ruler under divine inspiration

Choose the correct answer from the options given below:
tay A-D-E-B-C

(8} A-D-C-B-E

€y E-D-A-B-C

{0y E-A-D-C-B

78 89 % AR, BE & 0o & W0 &

A. Ui/l & 51y 8 S &1 9

B. dfgareu

C. fafts sean

D. =iga fafy

E. <319 TRO1 F a5 WMES &R S0 T $17

i feu o fawedt H § 981 SO F1 994 S
tay A-D-E-B-C
& A-D-C-B-E
€y E-D-A-B-C
oy E-A-D-C-B



Answer Given by Candidate : Not Answaread

5l No 53
0OBID:B441728

Which of these judgements does not deal with tribunalization of justice?

A} Union of India Vs. Madras Bar Association
gy Salem Advocate Bar Association (2) Vs. Union of India

@€} L. Chandra Kumar Vs. Union of India

oy Union of India Vs. Delhi High Cowrt Bar Association

0 § ®1F W Pl =m F e fEemagerE) § g6t T8 E
(A} WIRT °Y SH AEE S THIEEE

(8) WUH USdise SR THIRGEH (2) S YRd 99

¢} T Tg HHN S YT §9

(0} HRG W9 §AH faeeh 518 SIE O CHifieEE

Answer Given by Candidate : Not Answered

51 Ho.54
QBID:B441729

Given below are two statements: One is labelled as Assertion A and the other is labelled as Reason R.
Assertion A: Audi Alteram Partem is a principle of natural justice.
Reazon R: It means that no one should be punished without being heard.

In the light of the above statements. choose the most appropriate answer from the options given below
o} Both A and R are correct and R is the correct explanation of A
gy Both A and R are correct but R is not the correct explanation of A

€} A is correct but R is not correct

{0} A is not correct but R is correct.

12 €1 e Ry 0 & U iy (Assertion A) ¥ w9 # faf@a § O g9 99F R0 (Reason R) & &0 #
iU A ; 1S sreoem Uen Suhle =Om 1 e fasid B
BRI R : 591 #AaeE ¢ & @t &1 ot g7 famn <fga =8 s o =z

TRIE HUF & A 8, - 50 T GEe § 3 999 5l SR B 994 S
) A SRR G 961 8 SRR, A ¥ 98 e

® A R R S O & dfFA R, A 91 9 amem A€ @

© ATSEAFAR TR AR

(o} A 98! el § fed R 98 @

Answer Given by Candidate : C

51 Ho 55
QBID:2441730

Where the legislation is complete in itself but its operation depends on the fulfilment of certain conditions, and the power to determine
whether or not the said conditions have been fulfilled has been delegated. this type of legislation is called:

(4} Delegated legislation
gy Conditional legislation
iy Exceptional legislation
o} Sub-legislation

WEl BT AU A1 H O & Wi 5961 yaae el mat @t gi ) Rk @ £ AR a5 Fuifa 5 3t ofEe & an o ot o o e g A
I Tty o T B, 5 ¥R & e S S 9 8-

(A} TTETeT e
(B} TR faur
€y sy Eu=



0} 39-faem
Answer Given by Candidate : B

51 No.56
OBID:B441731

Given below are two statements:

Statement I: To establish the Tort of negligence, the plaintiff has to establish that the defendant owed the plaintiff an exceptional duty of
care.

Statement II: The plamtiff to a claim of Tort of negligence must also establish that the defendant breached the duty.

In the light of the above statements. choose the correct answer from the options given below:

(4} Both Statement I and Statement II are true
(6} Both Statement I and Statement II are false
€} Statement I is true but Statement IT is false

(b} Statement I is false but Statement II is true

4 g1 e Ry &
FUA-] : TRATE! F $ # witT $ % o o #1 g5 =iftg w4 g 5 vfied =1 9l % gdss & n o s sda g
HYA-]] ;: TTRAE & $d F ald & g gl & g8 Wi Rifdd s g 6 vfaardt 3 wder 1 9wie T

TRIE FYF $ A@S 1, 1 1G4 T e § 9 969 Juged 9N B 904 i
() BYF-] AR BYH-I] ST 9 B

®) BYA-I 3R HUH-I1 ST 3@ &

() ®uA-] 94 7 Al U1 a7

(0} FUH-1 39d T, A FUE-II T B
Answer Given by Candidate : D

51 No.57
OBID:B441732

Which of the following will not amount to private nuisance?
ta} Encroachment

gy Easementry rights

¢y Direct physical injury to the land

0y Interference with the quict enjoyment of land

Frafafes & & = o s & R feeier =6 s

(A} fesHAT

(B foguT afUer

(©) Hff P v Hifae afd

oy Y1 & wifogul oeE # smaw

Answer Given by Candidate : C

5. No.58
DBID: 2441733

Given below are two statements: One is labelled as Assertion A and the other is labelled as Reason R.
Assertion A: A fair and bona fide comment is no libel.
Reason R: The defence of fair and bona fide comment may be claimed only if the said comment is made in public interest.

In the light of the above statements, choose the most appropriate answer from the options given below
o} Both A and R are correct and R is the correct explanation of A
5y Both A and R are correct but R is not the correct explanation of A

€} A is correct but R is not correct

(b} A is not correct but R is correct.



F9 @ FUA &Y 0 & UF fF YT (Assertion A) & w0 H faf&d § @ 90 39% $RU (Reason R) & ¥4

SftydYT A ; Uh ey iR ardids el sioareme da T8l & |
TN R : ey iR gmfire feoqtlt & 2an 31 g ot e W 9o d &, oY gad ot e R A FT T B
JRIad BYUT & TS |, 49 GF T Gl § § 981 SO &1 904 S

4} A IRR EH 90 E AR R, A F 98 rem

® A 3R R S 90 E Al R, A 1 et ouren T8 &
© ATTE IFTR w2

() ASEAE AR T@R

Answer Given by Candidate : &

5. No.59
QBID: 2441734

The Competition Act, 2002 replaced which legislation.

ta} Consumer Protection Act, 1986

8y Monopolies Act, 1984

¢y Competition Act, 1984

oy Monopolies and Restrictive Trade Practices Act, 1969
waaifan sfafzm, 2002 3 o9 &3 = wiowniity R

(A} JovtEm SXam fUfEE, 1986

(8} TR HAFEE, 1084

) o sfyfam 1084

(0} TEIEHR 3i¥ Hiadues o oaer Hfafa, 1969

Answer Given by Candidate : D

5l Ho.&0
QBID:B441735

Given below are two statements: One 1s labelled as Assertion A and the other is labelled as Reason R.

Assertion A: A student P requests the examining body to provide details of a candidate Q for the upcoming entrance exam under a RTI
Application. The request is rejected by the Public Information Officer of the examining body.

Reason R: Information that is related to personal information of a person and the disclosure of which has ne public interest need not be
disclosed as per Sec 8(1) (j) of the RTI Act.

In the light of the above statements, choose the most appropriate answer from the options given below
(A} Both A and R are correct and R ig the correct explanation of A
(6 Both A and R are correct but R is not the correct explanation of A

€} A is correct but R is not correct

(b} A is not correct but R is correct.

i g1 wu= fay 1Y 8 TP SfHEUT (Assertion A) F w0 # ffEd € o g0 SUF R0 (Reason R) & ¥4 H,

HHFYA A : UF 51 P A Tile SRIH § UF R & 315 F ded AR USm uliel § U6 gt B Q $1 &R Ve $7 &1 Y fan | g sy wian
TRH F Ewe qu1 SUsR] g1 SRAeR X o T E |

HRU R : g3 9 [ sufda @1 sfdaa aHen | 96fid 8 o foae adu-s &d 9 S5 a1 6l & 59 RdIen U $1 4R 8(1)F) ¥ SFaR
THE I I HaEal Tol § |

SWRIE FYF F AF 4, - G0 T Feed § 9 98l 9T &1 90 S

() AHRREATI OO E IR R, A &1 U6l &N &
|y A TR EHI OO E dfeT R, A 31 T8 oI Tol B
© ATOE UfFTR smD®

O ASEEE AT RITR
Answer Given by Candidate : Not Answared

5l No.61
DBID: 244736

Which of the following is NOT an example of legislation to tackle white-collar crimes?
o} Essential Commodities Act, 1955



(B} Narcotic Drugs Psychotropic Substances Act, 1985

¢y Prevention of Corruption Act, 1988

0} Motor Vehicle Act, 1988

FofafEa & & =1 gheum ol | e % e 13 &1 Iaee 78 82
(A} 9 g% AAFTE, 1955

(8) wage ANy FRuId verd sffaE, 1985

(€ WEER o sfifas, 1988

() TR TTEA afafam, 1088

Answer Given by Candidate : D

5l Hop.&2
QBID:B441737

Match List T with List IT

LISTI LISTII
A |Conditional Transfer I |Sec. 14
B. |Vested Interest II. |Sec. 12
C. |Doctrine of Election I |Sec. 35
D. |Rule against perpetuity IV. |Sec. 25

Choose the correct answer from the options given below:
oy A-L B-IIL C-IV, D-II
gy A-L B-IV, C-II. D-III
¢y A-IV, B-II, C-III, D-I
oy A-III, B-I, C-II, D-IV

el 1 1Y G 11 DT e By

Tt 1 T 1T
A |FEE ®FEE I [GaEH-14
B. |Ffgg @ I [Ja9H-19
C. [ga @ fagia L [Ha=H-35
D. [Tyddl & [dee Hg | V. [HeH-25

=t ferg U el & O Ot IR &1 907 ST
(ay A-I, B-III, C-IV, D-II
iy A-L B-IV, C-1I, D-III
&y A-IV, B-II, C-III, D-I
iy A-III, B-I, C-II, D-IV

Answer Given by Candidate :

5l No.63
QBID: 8441738

A transfer of a right to enjoy a property, made for a certain time, express or implied, or in perpetuity, in consideration of a price paid or
promised or of money, a share of crops. service, or any other thing of value to be rendered periodically or on specified oceasions to the
transferor by the transferse is known as:

(A} Sale

{8} Lease

¢y Mortgage

(b} Actionable Claims

% Al EEH) 5N SiiE () $1 TF T & SUa &1 06 HiieR Ue i w9y & fu- ogea o1 Fifta o1 myaan 8 Jiae #1 7 sma o
aTE I1 &, B, darsi @ FEa B 5 o 99 ¥ ue R 29 omefis wu @ O fafty st w siafa e o 5@ e v E o o 22

Ay fars
By o
wy frdt



@) HRars I e
Answer Given by Candidate : B

5. No.64
QBID: 3441739

Match List I with List IT

LISTI LISTII
A |Reference I |Order XXXVIII
B. |Temporary Injunction II.  |Order VIII
C. |Arrest before Judgement III. |Order XLVI
D. |Written Statement IV |Order XXXIX

Choose the correct answer from the options given below:

tay A-I, B-II, C-III. D-IV
gy A-IIL, B-IV, C-II, D-1
€y A-IIL B-I. C-II. D-IV
(o} A-IIL, B-IV, C-I, D-II

el 1 91y Gl 11 DT e Siforg
T I i 1
A |ged L |STCE XXXVII
B. |3remdi cga I |3G™ VI
c. |Hua Y ugd IReRt L |3 XLVI
D. |GfEa=am IV. | 3MTCE XXXIX
=t fou v fdeedl © 9§ 981 3R &1 994 Sifeiu:

tay A-I, B-IL, C-III. D-IV
gy A-IIL, B-IV, C-II, D-1
¢y A-IIL B-I. C-II. D-IV

oy A-IIL, B-IV, C-I, D-II
Answer Given by Candidate : D

51 No.65
QBID: 2441740

Given below are two statements: One is labelled as Assertion A and the other is labelled as Reason R.

Assertion A: Courts are barred from trying a suit if it pertains to a matter that has already been dealt with in a previous suit between the
same parties under the same title and has been finally decided.

Reason R:  This is the doctrine of res judicata and is dealt with in Sec. 11 of the Code of Civil Procedure, 1908.

In the light of the above statements, choose the most appropriate answer from the options given below
(4} Both A and R are correct and R is the correct explanation of A
gy Both A and R are correct but R is not the correct explanation of A

€} A is correct but R is not correct.

(b} A is not correct but R is correct.

F19 @1 FuA 4T 0 & UF fF YT (Assertion A) & w0 H &4 § @ 90 39% SR (Reason R) & ¥
HFYA A ; O B aie 59 I8 o @ eEfdy € o 3 e ¥ aga 98 veeRl & di9 ue fied Head # ued € Fiver @1 91 ¥ SR offom w9

¥ fofa femn 1 B 1 oedl B GeeH 9aH § US fear W g

SRR : 95 -0 $1 Rsid § ok Fie wiea afgan, 1908 &1 uwr 11 Fafifa 21
SR FYT F HTE | A9 T e Teai § § 98 o %1 904 S

A} ARREH 90 % MR, A F ol crem &
®) A IR R EH 94 % fF4 R, A @ 981 sure 48 2




© A9Oe dfeTR 3w R

@ A @ E GfET R a9 8
Answer Given by Candidate : A

5l Hop.&5
QBID: 2441741

The formal expression of an adjudication in which the court conclusively determines the rights of the parties of a suit is known as
Ay Judgement

(B} Summon

€y Decree

(b} Order

U - e # sl sfiefa, e smred oF ae € wenl & AieRl S Fuiee v @ Fuifa % 8 & 9 3 @@ o e

w fofg

By A

) &=l

(D) IR

Answer Given by Candidate : &

51 No.&67
QBID:B441742

A case relating to an offense punishable with death. imprisonment for life or imprisonment for a term exceeding two years:
(A} Summons-case

(5 Non-cognizable case

¢y Cognizable case

{0y Warrant case

g, Siefiad SRaE a1 31 98 & (i #1 safy & sraw & 9y de- smay 3 gafia aman:

(A} IO &H
(8} X T3 AW
(€} H3g A
{0} SR AHH
Answer Given by Candidate : D

5. No.62
OBID:B441743

Match List I with List IT

LISTI LIST IT
A |Arrest how made I |Section 43
B. |Arrest without warrant II. |Section 44
C_ |Arrest by Magistrate ITT. |Section 46
D. |Arrest by Private Person IV. |Section 41

Choose the correct answer from the options given below:
ay A-II, B-IV, C-II, D-I
gy A-IV, B-II, C-I, D-III
¢y A-II, B-I, C-IV, D-IT
oy A-L B-IIL C-IV, D-II

el 1 1Y G 11 DT e By
T L e

A RN B9 8% L [4RT43
B. |ane & fa1 fruard L |9 44
C. |AfSRZe GRT FRUEIRT 1L |4RT46
D. |udh el eafdd gRT TR IV |9RT41

i f4u 70 fadedl § 9 Uel 3R &l 944 Sifol:



Ay A-IIIL, B-IV, C-II, D-1
gy A-IV, B-II, C-I. D-III
€y A-IIIL B-I. C-IV, D-II
oy A-L B-III, C-IV, D-II

Answer Given by Candidate : A

51 No.6g
OBID:B441744

Which of these is NOT an institution established for the welfare of children in conflict with law?
ta} Children’s Home

g Place of Safety

¢} Observation Homes

0y Special Homes
0 § B B 1 90T S a1 = & SeI # oy ®ft Fwn T8 87
) FgEH

By Y& 1 R
¢y Friem s
(OIREL R

Answer Given by Candidate : C

51 No.70
0OBID: 2441745

Where a subordinate Court sends a suit to the High court for its opinion, it is known as ?
(4} Revision

8} Reference

€} Review

oy Appeal

el Us sl ey, 9= ey B SEe! U & o Us 91 Hedl B, 54 (69 0 H ol oidl 22
(A gAdtE

@) e

©) Gl

(b} 3

Answer Given by Candidate : B

5. No.71
OBID:B441748

Given below are two statements: One is labelled as Assertion A and the other is labelled as Reason R.

Assertion A: A hands over a railway receipt coneerning the delivery of goods, to B. A is said to have delivered possession for the
purpose of a contract of baihment.

Reason R: Sec. 149 of Contract Act recognizes both actual and constructive delivery.

In the light of the above statements, choose the most appropriate answer from the options given below
4} Both A and R are correct and R is the correct explanation of A
ey Both A and R are correct but R is not the correct explanation of A

€} A is correct but R is not correct.

by A is not correct but R is correct.

F9 1 FUA &Y 0 & UF AF YT (Assertion A) & ¥0 H 484 § @ g90 39F SR (Reason R) & ¥4 #:

HFYE A - T AE @t [EREd & wafia Wi Wl &t doa 21 TS e 9 fF SuiHeE ¥ omdy & wieE & o sfter e 2
B R : T8 AHUFEH S 4R 149 IRl SR S G SHf &1 A ol 2

SRIE FYF F A0 4, 71 fon T e ¥ § 999 Suge ST &1 904 S

#) A SRR FI W8 & SRR, A 91 98 omem &
® A FRXR S TS AT R, A 31 981 oI T8l &

(€}




ATSE oA R A T &
o ATd g A REAR

Answer Given by Candidate : A

5l Ho.72
QBID:B441747

Given below are two statements: One is labelled as Assertion A and the other is labelled as Reason R.

Assertion A: Pratap. a trade union leader is arrested for conspiring and damaging the car of the owner of the factory he works in. The
High Court held the arrest to be justified.

Reason R: Sec. 17 of the Trade Union Act does not grant immunity to all acts of office-bearers of the Trade Union.

In the light of the above statements, choose the most appropriate answer from the options given below
(A} Both A and R are true and R is the correct explanation of A

gy Both A and R are true but R is not the correct explanation of A

€} A is true but R 1s false.

{0y A is false but R is true.

9 @ FUA f&U 0 & UF fF YT (Assertion A) & w0 H faf@d § @ ¢80 39F $RU (Reason R) F ¥4 H

i A T8 g T YA # 59 hadl & AR & s Tifem B 5l Ous! ®R B 35 Uga & R | FReaR e man € el o
HIH Bl 31 FIEHIC - 59 RGN &1 981 sgvan

HRU R : $5 gfaa sfufmm 21 9r1 17 25 gfee & ueiideial & ol vl F R safa ea e s 2 1

IWE FYF & WS H, A G T el § 9 95l 3w &1 994 Sl

() AMNRREAT OO S SRR, A &1 T8l 1= &
) A TR EFT OO © afFT R, A 31 T8 e Tel o
© ATEE fFIR TR

@ ASREE UFIRIAE
Answer Given by Candidate : Not Answaread

5l No.73
QBID: 3441748

Given below are two statements:
Statement I: An establishment may pay different rates for similar work for male and female employees.

Statement II: Law does not prohibit or restrict the right of an establishment to decide on wages and remuneration for male and female
employees as long as minimum wages are paid.

In the light of the above statements, choose the correct answer from the options given below

ta} Both Statement I and Statement II are true

(8} Statement I and Statement II are false

€} Statement I is true but Statement IT is false

(b} Statement I is false but Statement IT is true

fRdGizwmtms

FYA | : TP WEH Yoy SR Afee sHaiat & 99 o1 & i i 3 &1 Jae s aear e |

FUH [1 : 79 0% <09 307 $1 YT g1 Wil &, F17 190 SR g sHuiEt 3 w3 ok o w Bl o F i fad ofee F e

! faftg o Peffig i s g
I FYF & AP H, A o 0 el § § 98l 3w &1 994 Sifaw:

w) FFISRI SHi T B
(B U AR SHf oE T 2
) FYA ] TUE aET s ] T T

0 P AR APTFHHI FE 7
Answer Given by Candidate : Hot Answerad

5l.No74
QBID: 3441749

Which of the following statements is not true with respect to the relationship to third party as per the Indian Partnership Act?
(a} The liability of the partners is jomt and several.



(B} The partner is an agent of the firm.

The liability of a partner is limited to the amount of capital

€ invested by them.

oy The firm is liable for the tortious acts committed by a partner in the ordinary course of business of the firm.
s 3§ 9 #19 ®1 $y= uRdg SEerl #fAftEn F sgeR die vy s 99y S IR F w8 T8 2

(A} FIEER! P STal §99d SR P8 8l

(B) WG FH 1 0% Teie ol

(¢} UF 9IGR 3 &gl 9% g How 1 15 Uul &1 Uil ae Hied Bl

(0} HH F TR & THR FHE e & H9 F UF HEiieR g1 65U U SEhe il & g B Swedl 21

Answer Given by Candidate : C

5. No.75
QBID: 2441750

Which of the following core conventions of ILO has India NOT ratified?
4} Equal Remuneration Convention, 1951

(8} Abolition of Forced Labour Convention, 1957

€y Mimimum Age Convention, 1973

0y Right to Organise and Collective Bargaining Convention, 1949,

YR J TS U o & Fiiia | 3 o or sfiemg @ smaml T8 e 22
(A} TEE giieyEe i, 1951

(B} S Y9 & I dadl aAibEEy, 1957

(€} =gAaH 3y =fftEEg, 1973

(0} SIS R SHfEs el & afusr due aftemg, 1949

Answer Given by Candidate : Not Answaread

5. No.76
OBID:B441751

Given below are two statements: One is labelled as Assertion A and the other is labelled as Reason R.
Assertion A: An employee meeting with an accident on his way to work is said to have met with the accident in the course of
employment.

Reason R: This is known as the doctrine of notienal extension of employer’s premises.

In the light of the above statements, choose the most appropriate answer from the options given below
(A} Both A and R are true and R is the correct explanation of A

6y Both A and R are true but R is not the correct explanation of A

€y A is true but R is false.

by A is false but R is true.

1 €1 Fu Ay Y @ U ofiE YT (Assertion A) F w9 H faf@d § o g9 59F R0 (Reason R) & U H

HHFYA A : FHIN & BH W TH $ GRIH U5 J ghedl &1 RSR 81 F TR F Hel o1dl & f6 39 A6 & NI gued] &1 FH1 S 991 47 |
HRU R : 38 FRitEa & ufer & FieF fTwR & g $ s d e oarg |

SRIE FYF $ AF 4, - 130 T fGEed § 9 98l 9T B 90 S

() AHRREAT OO E SRR, A #1 Tel 1= &
By A TR EFT OO E AfFT R, A F1 T8 O Tel o
© ATEE UfFTR TR

@ ASREE UFIR A8
Answer Given by Candidate : &

5l No.77
QBID: 8441752

Which one of the following statement is nof correct?
) Article 14 of the Constitution deals with Equality before law
gy Article 21 A of the Constitution deals with right to Education



€} Article 17 of the Constitution deals with Abolition of Untouchability

oy Article 21 of the Constitution deals with living wage, ete. for workers

FofafEa & @ =1 w1 5y= stw 7@l &
wy SfIUE T o= 14 B & why A § Wit 2
(B} AU &1 ofwve 21 fian & feR 4 w&fia &

€y AU &1 oade 17 ROl & SHEA § 9aiid 8
(b} TR B gsg 21 4wt & R Fale Aogd € wafia @

Answer Given by Candidate : D

5l Ho.72
QBID:B441752

Which of the following methods fall under ADR ?

(4} Legislation, Arbitration and Negotiation

gy Mediation, Legislation and Conciliation

¢} Arbitration, Conciliation, Mediation and Negotiation
(ny Negotiation and Legislation

ADR ¥ 3faid 1 ¥ e oM 8 ?

(A) BT, HERE SR s

(g} S w1, I SR G

(€} TR, G5, & S SR adid

(v} & TEE FAR B

Answer Given by Candidate : C

5l No.79
0OBID: 8441754

According to the Hindu Succession Act, who among the following is a class II heir of a Hindu Male dying intestate?
tay Father

8} Mother

¢} Son’s son’s daughter

(b} Son’s widow

g swifder sffom & agur, PefafEa # ¥ o4 wiad e & A o o fig oy & fEdia dft s o 2

(A} foram

By =
©) I H I DI

(0} &2 H1 faya
Answer Given by Candidate : A

51 No.B80
OBID:B441755

Given below are two statements:
Statement I: An unmarried Hindu female may adopt under Hindu Adoption and Maintenance Act, 1956.

Statement II: If a Hmdu female adopts a male child under the Hindu Adoption and Maintenance Act, 1956, she should be senior to the
child by at least 21 years.

In the light of the above statements, choose the correct answer from the options given below:
(4} Both Statement I and Statement II are true

B} Statement I and Statement II are false

(¢} Statement I is true but Statement IT is false

(0} Statement I is false but Statement II is true



i <1 U fag &

w1 : U faarfea fig afew g oo 7ewr ok Tavam wfafamm, 1956 Faea e d a=di 5 |

w11 ; afe #13 g Afea g aa¢ 750 ik vavEe fifeE, 1956 F Ted F Pu s Sl e ddl e AN s Sl s S s A 5 21 ad afw
BT Ifeul

TR YU & S F, A [0 7 Beedi § & Tl IR B 90 Sl

() TR AR SR 90 &
(B} BT AR SHf 9 &
) THITOE A P11 A B

(0} B ] WA, AFA B TAE
Answer Given by Candidate : A

5l No.21
QBID: 3441756

The Constitution of India has no provision for removal of:
(4} President

(6} Vice President

¢y Judge of the Supreme Court

(b} Governor

YR F HuE H fbas! ger &1 S5 weuE T8 o

(ny TEI

() STRIEH

©) T S & o9

(D)} YTeTyTe
Answer Given by Candidate : D

51 No.B2
OBID:B441757

The Directive in Art. 40 of the Constitution of India was fulfilled by the
(A} Nationalization of Banks Act, 1992

5y Panchayati and Nagarpalika Act, 1992

¢y Withdrawal of Privy Purses Act, 1992

(0y Nationalization of Insurance Companies Act, 1992

HRd & gy & arg=sq 40 § Féa feas gr o e man o

w) 1 B fiEE e, 1992

(8) deTaCl SR ARt SiffE, 1992

© firdt oo @1 aroe s, 1992
oy A il @ agtae sfafm, 1992

Answer Given by Candidate : B

51. No.B3
OBID:B441758

Article 19(4) allows the state to impose reasonable restrictions on the grounds of
tay Public Order., Morality, sovereignty or integrity of India.

gy Interest of general public or for the protection of schedule tribes.

¢y Soversignty, integrity and security of the state

Sovereignty, integrity. public order, and friendly relations with
foreign nations.

(D}
e 19(4) F YR W U7 $I Ifa ufady o 3 ogafa & &
(A} Wi ogaR, Sftar, ST 91 YRd B @S

(B} STH STl & [2d O1 S S-eniagl & da & i

(€} TS B WP, IGSAT AR R

(0} TUEl, Sl i aR SR FEEh upl & Wy A dey



Answer Given by Candidate : Not Answaread

5. No.24
0QBID: 844759

The National Conumnission for Backward Classes was established under
(A} Article 338 B

(B} Article 279 A

€y Article 342 A

(b} Article 350 B

s ot & forg oftg amde F1 =T fEas 95a #1 s A

(a) 3rf=sg 338 &
(B) e 2797
€ Ig=e 342 1T
(0} J=be 350 &t

Answer Given by Candidate : A

51 No.85
QBID: 2441760

Which of these 1s NOT an ingredient for mvoking necessity as a ground for preclusion of wrongfulness of an act:
(4} Essential Interest of the state

gy Grave and imminent peril

¢y Breach of Peremptory norm by the other international actor

oy Only means of safeguarding the said interest.

TTH I B US 1 & T0d 54 31 YU F Y 0P MUR F F9 H HOEdl 1 6] $3 & 00 U6 92 6l & |

Ay T F SHOTEF fod

B TR 3T orEH Hde

(€ S AP Fal g UG AES $1 SweEd

(o) S5 foal B &0 S U AH ST

Answer Given by Candidate : Not Answered

51 Ho.B&
QBID:B441751

Which of the following is NOT true with respect to dying declaration?

ta} It is based on the mexim “Nemo Moriturus Proesumitur Mentiri™.

It must pertain to the cause or circumstances pertaning to his

® death.
¢y It must be recorded by a judicial magistrate

0y It must be made voluntarily.

FufafEa & & o1 gg Fifte dmm & &y 7 98 761 87
) T BfEEm - Ot g #ed w annfa 2
(B} T8 34%! 4 & SN 1 yiiRufadl § S€ida g =gy
) T8 Us ATae Afsee gRI g (4l @l 91ey

(0} =H W= ¥ T 9 @R

Answer Given by Candidate : C

5. No.B7
DBID: 2441762

Doli incapax in case of child below the age of seven years iz
(4} Presumption juris et de jure

(y Presumption juris

t¢} Permissive presumption

0y Huminis vel judicis

IId 91d € B9 99 & T $ 9Ed | Siell Shdad &



B orgam- SR @ 3 =R
(B} SIIAM- URIRIRA

(€} MG ST

(b} =AM gv ety

Answer Given by Candidate : A

5. No.B82
QBID:B441762

Match List I with List IT

LISTI LISTII
A [Sec. 133 I |Burden of proof
B. [Sec. 124 II. |Leading Questions
C. |Sec. 101 II. |Official Communication
D |[Sec 141 IV. |Accomplice as witness

Choose the correct answer from the options given below:
(ay A-IL B-IV, C-III, D-I
gy A-IL, B-I, C-IV, D-III
iy A-L B-II, C-IV, D-III
(ny A-IV, B-III, C-I, D-IT

il 13 1Y Gl 11 DT e Bifory

el T 1
A |URT133 I |[Fgd &1 YR
B. |URT124 I |vgE g4
C. |uRT101 nL  |sifieiie gumo
D. |4RT141 v, |@ieh & wuH ggari
e fqu e fadedl § O gl STk &1 99 DI

(ay A-II, B-IV, C-III, D-I
sy A-IL B-I, C-IV, D-III
iy A-L B-II, C-IV, D-III
oy A-IV, B-III, C-1, D-II

Answer Given by Candidate :

5. No.89
DBID: 2441764

Dividends are as example of which head of sources of income under the Tncome Tax Act?
{4} Profits from Business and Profession

gy Capital Gains

€} Income from other sources

(py Salary

TIHIT TGS TTEH F T8d 18 & 69 Gid &1 U5 IeTes0 87
(A} oITETE SR 9% Ty

(B} GuiRTd TH

() oFg didl 9 g

{0y Faa

Answer Given by Candidate : Hot Answerad

5l No.50
QBID: 3441765

The power to impose taxes is found in:
Ay Art. 265
By Art. 245
€y Art. 260



{0y Art. 256

T W F1 Wied foew # WIS W & 2
(a) STRE 265

(B} 3= 245

(€ Ig=be 260

(b} 3J=Eg 256

Answer Given by Candidate : A

5l Ho.81
QBID:B441766

Which of these rights is granted i the International Covenant on Economic, Social and Cultural Rights. 19667
) Right to seck and receive asylum

gy Right to liberty and security of person

¢y Right against torture

(ny Right to just and favourable work conditions

T € B A sfeR anftfe, amiive i aiplie JfieRl w siaifa sfimag | 1966 4 faar mr g

(A} ERUT AN SR U S &1 SR

By fEd F WA SR W F1 ABR

() aaal & e sfEsR

(0} TEETE SR e B (il = HiER

Answer Given by Candidate : D

5l. No.52
QBID: 3441767

Setting aside of arbitral awards by a court is done under  of Arbitration and Conciliation Act 1996
(A} Sec. 24

(B} Sec. 26

€y Sec. 34

oy Sec. 46

AT AR g AR, 1996 F .............. T T6d b ROT GRI HER UIE B TR Bl oI 8

(A} W 24

(B} T 26

(€} oI 34

by T 46
Answer Given by Candidate : C

5l No.93
QBID: 3441768

For an invention to be patentable it must fulfil which of the following conditions?

A. A patentable subject matter
B. Novelty
C. Non-obviousness
D. Not be a process
E. Have industrial application
Choose the correct answer from the options given below:
a3 A.B. C.D. E Only
gy A.B, C.D Only
iy A, B, C,E Only

oy A, B, C Only



T enfaepR & Ude drg g & fou od MafefEa 7 9 M- 3 g &0 gl

A, TF Ude fawuas
B.

C. =gFar
D. T itk gl &1
E. SiRjife sy g

= fau Mo fGwen! ® 9 WR1 9T &1 904 S
(4} $TWA. B, C.D.E

| FIAA, B, C.D

© $99A. B, C.E

iy HIA A, B, C

Answer Given by Candidate : A

51 No.54
OBID:B441769

Given below are two statements:
Statement I: An Arbitral Tribunal can have even number of arbitrators.
Statement II: An arbitral award refers to the final award and does not include interim awards.

In the light of the above statements, choose the correct answer from the options given below:

ta} Both Statement I and Statement IT are true
(6} Statement I and Statement II are false
€} Statement I is true but Statement IT is false

0} Statement I is false but Statement II is true

i g1 e g &

FUA | : UF AremwE Hfiwn § gl # gom 90§ 9wd § |

HH 11 ; U HieRyd gare o dare & defifa s 8 i g ofafe dare mfa =8t 80 31
S FYF & HA@E 8, A fon T e § ¥ 95 ST &1 997 i

®) SR SH 93 &
B FUAISARI SH o 7
© FAIFAE eI FA I a2
) Y] A e AT sUA Il §9 2

Answer Given by Candidate : B

51 No.95
QBID: 2441770

Which of the following conventions are associated with trademarks and Industrial Designs?
(4} Barne Convention

(8} Rome Convention

¢} Paris Convention

(0} Geneva Convention

Fafafaa # § S sfimm toae AR siefie e § aeiin 2

By =9 At
(By I HITHG
) ofvm arfiramg
(b} SaT S

Answer Given by Candidate : Not Answared

51 Ho.98
QBID:B441771

Explanation 2 to Sec. 375 of the Indian penal code was read down in:

ta} Commeon causes v. Union of India
gy Independent thought v. Union of India



€} National Commission for women v. Union of India
(0} NHRC v. Union of India

YRA1g &3 Sfedt #1 9R1 375 &1 WPle (2) =" 9gT 77 o
(A} BIAA BT SHH HRA 99

(B} TATEUS=< Yle I YA 99

(¢} PIT HGE AT T HIRkd J°

(0} TUESEH! SH WA Y
Answer Given by Candidate : C

5. No.57
QBID: 8441772

The life of a copyright in a literary work is
tay Life of author + 60 years

tgy 60 years

ey 20 years

oy Life of author + 20 years

o wiefs i § sidvge o1 dleT 2

A dEF B wied + 60 a9

® 60 7

© 20

(0} TES P wited + 20 T

Answer Given by Candidate : A

5. No.58
DBID: 24773

When one country provides most favoured nation status to another country. it agrees to:
ta} Charge the latter lower tariff than any other nation

6y Charge the latter a rate no higher than any other country

¢y Export only the best quality products

oy Export the highest volume of goods to that country.

T UP SN gEY o} &I Halis gHdIeT AY 1 gul U Bl &, Sl 98 $9& 08 HEHd BT &

@) 5 1R omy T & gom F SES F0 S wuIia SRR |

) FEdt o 3w Y o H St O g el uuiiE SR g |

(¢} T FATH UET AW InE! F1 aE Far g |

0} TH SN Pl AW F FoIaH AH 1 0Td Fa1 © |
Answer Given by Candidate : Not Answarad

51 No.99
OBID:B441774

The principle of uberimae fidei refers to:

The obligation of the person taking the insurance to disclose all the facts that might impact the assessment of risk truthfully and

(A} completely.

(® The nature of insurance contracts where one party may receive significantly more than the other party depending on how the
circumstances evolve.

¢y The nature of msurance contracts where one party draws the entire contract on a “take it or leave it” basis.

0y The transfer of insured’s right of action against a third party who caused the loss to the insurer.

safed fred =1 faia wefila swa

(ay S A A wfed &1 g1 9wt el #) Wee S 8, o SifeH 6 e B Headl | SR g o | W ST @ |

) S el @ vl el uE oy F1 ot 3o B $ SR W g Uy B go | Aeayyl 9 9 Hfie v o 9o ¢ |
€y S el @ vefd ol ue Uy 59 1 915 & W gl agey ura S ¢ |

o et it vy % o difta ofea $ sRas & AfieR $1 el S Sl S Jear 9gam |



Answer Given by Candidate : A

SI Ne.100
QBID:8441775

Which of the following is an uninsurable risk?
(4) Personal risk

(8) Property risk

(¢) Speculative risk

0y Liability risk

fafafEa # @ 219 $m arg Sifew 78 3

(8) feTd STEH

(B) Uy wifEw

(©) Hgl wiEH

(o) T wifEH

Answer Given by Candidate: C
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